GROUP C

TO STARTER

17

Exploded View : EV BATTERY ACSRY D3.3L

Drawing No. : 10000028319

Revision : CN-0036937-C

Date : 5/8/20

Page 1 of 2



EXPLODED VIEW: EV BATTERY ACSRY D3.3L

DRAWING #: 10000028319
APPLICABLE TO:

GROUP C

ITEM PARTH# QTY. DESCRIPTION
1 050331A 1 BATT POST COVER RED +
2 038804Y 1 CABLE BATT RED #1 X 35.00"
3 0J3501 1 STRAP BATTERY 1.5X36"
4 0F3976 1 BOOT CONTACTOR CABLES
5 G022145 1 WASHER FLAT 5/16-M8 STEEL ZINC
6 G022129 1 WASHER LOCK SPRING 5/16 ZC
7 G045771 1 NUT HEX M8-1.25 G8 CLEAR ZINC
8 G050331 1 BATT POST COVER BLK -
9 038805U 1 CABLE BATT BLK#1X18.00"
10 055934AA 1 CLAMP STL/VNL .812 X .531
1 (G049808 2 WASHER FLAT M12
12 G051769 2 WASHER LOCK M12
13 G025507 1 WASHER LOCK EXT 7/16 STL
14 G061119 1(REF) BATTERY BCI GRP 31 925 CCA
15 (G042568 2 SCREW HHC M6-1.0 X 20 C8.8
16 G022473 2 WASHER FLAT 1/4-M6 STEEL ZINC
17 10000026924 1 ST03 TRAY BATTERY 27 31 3.3L
18 G022097 2 WASHER LOCK SPRING 1/4 ZC
19 (G049813 2 NUT HEX M6-1.0 G8 CLEAR ZINC
20 G051768 2 SCREW HHC M12-1.75 X 25 C8.8

REVISION: CN-0036937-C
DATE: 5/8/20

Page 2 of 2



